


110 TFH.C.F. of p and g is x and q = xy, find the L. C.M Of p and g from t~

following AXBe

XB: CF ALCM .
A pg | e
(B qy P xq, = IH+CPE XL tnn
C) xy

| @ py . : px)(%:’ 7(;xl,.cm

(E) Answer not known
S Leme 475

P ot g-er LBLQLJ@ Qurg uESSH X WwHmID q Xy erafle, p LD;_T)QJLD q G L88=
Qumg) WL BIns £(8%pu_|mmmm,r§|aﬂ@pgj STEHTS. | . 2 |
@A) pq

B ay
©) =y

D) py
(F)  oferr OsAucidamae

111. The length of a rectangle 18 (3x + 2) unlts and its breadth $
(Bx-2) unlts Find 1ts area. (x 20 units) ' B
(A) 3596 sq. units
(B) 3956 sq. units
(C) 4256 sq. units
(D) 5356 sq. units
(E) Answer not known
Qi @5@@1&355{@6& Berid (3x + 2) Siw@sdr LHmIb s b (3% — 2) GwEs

TRl DYFE LFLILGTEMES ST, (x 20 é{&)@&@ﬂ)

A
G 3596""@*6"@5"’”“ (Bx-rz) 60+L bz— ~_"9p"“9
(B 39565@"*6‘)@"5‘“ , (gx—nz) 2 S“’E‘- ; aﬂmfw_ o
©) 42565@{@@5&7 R
- (D) 5356 c.ow@sa Lguy .fmw xmwuy;:\;L}_r-_*‘
N o oo SRR baxs8
=3 Sqb
- CCS4T/2022 | P o 34 :
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(A) 99972 : 3/5~ g 12 - e &’f‘*"‘"'g @Gva\a J»;J‘?’w Gy ~ LCM,
(B) 99958
(C) 99960 6 2 480 w,a-ﬁ»f% gk > 3,8, S,(Zrn) Lom + 2,
| @ 99962 s e .7—',@"6_\5_5""23 ZJ{%(L\D @Mf

113.

'112 “The greatest 5 digits number, which, When divided by 3, 5, 8 and 12 have -
- 2 as a remainder 1s .

(A) 99972
(B) 99958 " Bme) 288,12

(C) 99960 .

D) 99962 T 4 Lf—f_—'f——

(E) Answer not known ' L s bx§ XX 2120

) St QUi b @wasas aTawenent 3, O, 8 wHmIb 12-& eu@a;@m Gurgy, -

. aﬂng@m LB@ 2 Grsvﬂa) Wat Quilu gis) @a)a;a; TR TG ————— Y GLD.

(E) - aflen QsMwedene -
. | . , ‘ O ~ 5 Dk ﬂ(an[
2. y,.g‘/,L D5 @@ v o 6‘})00‘\/’( _ |

The ratioof43-5:25 is same as Y Q‘H"i‘i - "710""”\"“‘;‘;’@’ -
@ 2:1 @« b, 10)72999 ]
| : B S g hVUrbalas, A6 4
(C) 7:5 S - 2q — 360 !
| - ., 344

(D) 7:10 : . 49960 -~ , 3to \%
(E) Answer not known ,-,.'2 .p{ ),@'.\2 N . 999604 7
743'5 : 25 GTETLSHE Fwrar eildlsh. | - 69962 .

A) 2:1 - | | -

4:1. - N S

© 7:5 R R
@) 710 3 ,.z'if.

(B) oo Qgrﬂu_mﬂcomev - Cr &

(2) = M

. ‘1 X2 g; CCS4T/2022
221 [Turn over

' ;
(\ V' e .



114. If 18 a, b 3 are in Arlthmetlc progress, then What is the Value |
(04 b)) G s ehts L, A, b = ’rqr-'f:«..fl
a,_\g -l D Q.a-b - 19
b—a =—-3%-b —._9 -—a-u-?»b

(® 11
() 21

(E) Answer not knoWn

18, q, b, —3 @eau ahL_@g,Glgm_n Gurﬂm&uﬁla) &errcrrgﬂ erafléd (a+b) e Lo‘éju |

1

SIETS. |

| 24 - b = !8
@) 1 B 5 (.B)-- i —2axrub - b
‘ 15 ~/) o - (D) 21 Caben Lbzu
(E) . @Slcm_ Qg,fﬂu.;@ﬁ]a)mcu '_ S L 2a b =18 | ;

VA 24 =18
e @xba*y 215, 24 18+t

115 A person saved money every year, half as much as he could in th 1:
prevmus year. If he had saved totally 27,875 in. 6 years then how muc

d1d he save in the flrst year"

&) 3000 SR 2 4,000
(C) T4500 T3 75,000

.@3

(E) Answer not known

@@ BUT @alounm yamrhn ASHEG Whosw Pl Geldlss @gnma;uﬁ]
Lnglenws Cﬁs:uSlaséﬂmrrrr 6 oyar@aeile e X 7,87b-g& Cabladlpr erafled (50;5

c"é’pw@ @Euﬂul_[ s | G el = R Gl v
@ Tao0 (B) %40009'%@0 e i
(C) r4500 (D) ?5000(0\,,,*:+T'+% o

E) o Qs
() oL 65 UJQEI]GIfGO)GD‘ a(t-\—l,‘, *J_'r'b; 3»} -797»(

sk |

’\’)
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“’135 How many triangles are there in  the followmg ﬁgure

4 D & @ ¢ &b
%
Al 2O @E ®r @O
LN e ] G @6
A 12 ' (B) 13 : 2 bf . @ 6
- (© 14 | @ 159 @ o+t @ ¥r&
~ (E) Answer not known ) AABHE |
£|€pasewn_ QJ@S)U’LJL.Q;QG\) srgg,mem W&Cameamiiger 2 crerer ? @ C +B 40
@ prexy -
@ 12 B) 13
©€) 14 - * (D) 15

- (E) e Asfluelooe .
136. Which number is in opposite plane of 3?

@ 1

€) 6

(E) Answer not known
3-8 Grﬁrjrrm saTSAe o erer erei 6T ?

- ‘ ;

. © 6 E S }(D).5
(E) e Qgrﬂwaﬂmmw : ‘
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®
- (©
(E)

8.Qum.u- 5 eTafled é{@.@@m 8.Gur.. Iy

@
®)

©)
)
(B)

75 i . Axbrxe =S
_125 R ‘ ‘c\_kb‘xc ?}_"3,({‘
375 ! Lo s e o o
T A Axbrl > (x3 xS
a0 e axbrl s D
el Gsflueidens 3 23Xy = 'S' |
~,> ’ T S‘,(j po S- r.

137. A worker was enga'ged for a certain number of days. B'ut he remained
absent for some days and was paid Rs. 1,387. Had he worked all the
days, he would have earned Rs. 1,752. How many days did he work for?

(A) 19 (B) 21 172 138 T Fnv2) —;:;:"
) 24 | D) 29 1ngdtrs2C! Mg:ago |
(E) Answer not known Mz | ﬂ)zq s

292

Cgoar @n GHUALL Cumassns uewﬂumrrg,g.uul_l_rrrr H&TMD el . flew B-*
[f;fTI_HSGTT Carwas@ eurmod, Come Qg prisessrar safunns . 1,387

Quppri. el Smasg BT selgib Coama Cewdlmpsmed cadwions . 1,752
Qum@@uunn erafled ojeuir Gam)cv QFi1s BT Semars Sreams.

19~ - CB) 21 .. BCF T3 |
24 RS, (D) 29 "Qbmm?@ﬁ\.'}v:-: _I—_Zf_z =19 .
o ‘ . T e S b O _—,
eflen. Qgflweferena |
O)bw;») Gn iy = 1T 24
: S .Y ~

. ,If product of glven three numbers is 187 5 and thelr HCF is 5, then thelr |

A—-'B C

450 '
. . abc = 1878 1 €
Answer not known o5

) . k B
~ 1C A~T N BT -1 —




139 How many times can you subtract 10 from 100? 100 ~67y 103 %;
| @ ' ‘/) ‘ - . (B) 100 @f»))fw;/ =100~10 :90{
(C) 10 : ' @ 9 !

@ O Ot EnBE75y .
(E) Answer not known { b %

‘  Fon EN IDONE?*K

100-@5]@;‘5@1 D-o o srarmed Grg,gmm Yop sfléa 1pigub? 4}
@ 1 ! .  ® 100 (0 % oAz (B9
o | . ' D) 9 6'\""(‘” I %M’)"“}
10 : | g

© | ( _) | 7o) eriBu yo,ra,b@? ‘

| 590»6\)'5 &67 y»{),,ywa; ‘?O‘ﬂagab)
%EMMM , ’6“’7 euov ]

o (E) eflen QzsNwelcvbenay -

: th
140. Mukesh can do % of an work in one day. In how many days can h

complete the same Work" |
8 21 days | @) 3 days 190 Eue
(4) 27 days (B 95 day _ 7

(9} 4% days B (D) 5 days“ « Bz @Yyov = L

%mvﬁf "”‘Q )

9 2 "i =3 /9/ 0 Ch ¢
- Csaiy g ;r,rrerﬂsu = UGS G@memu AENTY (g)tq_uumr crafled ergganar Bl _sefled

(E) Answer not known

e Couanavanw (g)@mmu_mes Qauig (g)Lq_L_JLJmT?

(A) 25 EHL&GiT | ;' (B) 35 BT &ar
(© 4§‘r_r>m_asm . | - (D) .5§‘mm_a;m

(E) oflani Qﬁ[ﬂ:ﬁj@ﬂ@mé
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[163.

 pa (8 bt et s . ol
£ S PSPE e

. Two dice are rolled together f1nd the probablhty of gettmg a doublet or

sum of faces as 4 . B yagl Bcy ooy > (.0,6,909
@A) 1/9 ®) 3/9 QY (5.9 (W4)
© 419 ©) 29 By 00> 82,6.0)

(E) Answer not known
@ran® usmLasd @Gy (E‘r_r,gg,ﬂa) &@I_L_UU@LDQUW@QI @reamgain @Gy s
g Fpsed 4 S &s ﬁ*’;'a??’&@{ ST 5 ramgy BEI STt Sy 97,@),\,4

(A 19 | | (B) 39 oo,y Go K? ) (é ) (19
©) 4/9 . @ 2/9 3,030 g
(E) eler Qsflwelome \
' = —-8:—" = ,2:—
26 .

Kala and Vani are friends Kala eays “Today i1s my. birthdéf’ and ehe
asks Vani, “When will you celebrate your birthday?” Vani replies, “Today
is Monday and I celebrated my birthday 75 days ago” Flnd the day when

Vani celebrated her birthday?

@ Tuesday ﬁ@‘r'z gwawr = | | _
- (B) Wednesday. | o 75 7
(C). Thursday | T8 ’milgw'.r _C&& A =522 '
O Fdy o sepes 6 >
() swer not known . Cf ) m o e ?)DG'»MM

(D) G]merraﬂ} Sipaw

som wHmID eumentl G maeuHLd Emurraam “@eargf crevgl Umbs HTET ETerr &eoim
sadearer. el “e argl Gpps prever eriiGung b CerarrGemi?” eerd
CalLrer. @igH@ eurenfl “@ery Hus’ Spamo, prar aaraimLw Kpbs Breer
75 Brls@hé@ P Qaram_mqGarernr” erarr Lglavaflggmar. eumanflufle @mpgpnm
THSS a‘)@mmuﬁ]w m;ﬁ@@&@m TETE asrrema; |

(A) Qecueumis Sipanto - @%\9 T-4 = 3
Ligeir Slpenio 7 ~
(C) eﬁlu_lrr%pm é]bomu) L 3 Lf})am ﬁ Tm Lo

(E) allenL _Qg,rﬂu_laﬂd)mm
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e e e — < R

164, 4P+SrgB#A3j7c>Z%6d*Q@1 | |
If the first half of the series 1s written in reverse order then whlc'

element will be fourteenth from the right end?

A > ‘ (B) A _
(©C) Z \ i (D) + 55 ceatpr v 2\
\ .
(E) Answer ngt known & \
- L+ P4 W\ aTem b

4P+Sr9B#A3?7c>Z%6d*Q@J
Qaer@ésiur L Qemifer wpgsd urdaw HarGarms s euflensulic Gr@g‘,]mrra) m@m

Qgr_fer euagLEsSHBHE 14-0ugns b 2 nlboars srams.

@a > o . ® A
© Z . D) Bl

(E) oo Osfueidme

| |
165. 10 farmers will plough the land in 21 days. In how many days|
14 farmers will plough the same land?

e 14days‘ | L mtO( - N\LDL

| \ = Vex Do
(C) 16 days 1»6 X'M’ = ,\/‘4— .
(D) 17 days ' | Dy : 3xS
(E) Answer not known _ \5 ~

10 @S]@J&:Tuﬁla;m 21 ;r)rrpaa@ﬂco @ Hosms 2. g (pysslameart aafld 2Cs
" ;Fﬂevg;aog 14 aﬂw&nuﬁla;m THSSMET BILG6Te) 2 (gl (LPlg-LILif?-
(A) 14 ;F)rn_a;m | '
zB) 15 BTG
(C) 16 ;r)m"_sse'rr" |
D) 17 (r_arrL.a;@n

(E) oemr_ Qg)fﬂuaﬁ]evmeu
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66. There is 60% increase in an amount in 6 years at simple interest

Then the compound 1nterest of 212,000 after 3 years at the same rate is

A) 22,160 . (B) 23,120 023G  boy a=lwv
‘ N NSy = o ).

() 23,972 : | D) 76,240 - -

= 3y ok 15067 ivoo

(E) Answer not known
@® GHILACL <ied gaflaly eissdlad 6 yeardseiler 60% Hafsdpg. <G
auLly aigsdHd T 12 ,000-45 3 <y amheefle aﬁlml_a;@m a'm_(bW Ul lg

167 The population of a village increases at the rate of 7% every year. If the
present populatlon 1s 90, OOO The populatlon after two yearsis

A). 96,300 R o
( ) : : @)\;‘4 Por1 ~*—>ﬁo'ocpd><%; - 6300-
- (B) 1,03,000 | , _

(C) 1,00,000 2y D0 ';v q(, 300 ;<|Zw : 67 4',

@) 103,041 ) | oumion . 2047

(E) Answer not known - Aoy T . 12041 +90000 = )o20%) —

@G simogdar  wéslbgtws erliramss 7%  eisd  <fsNsdng.
@u@un@@ w&ser Lgrens 90,000 erafldr 2 %mr@a;@gs@u 9@ &S Trogder

D&&ET QFTens

(A) 96,300 -

(B) 1,03,000

(C) 1,00,000 | |
@ 108041 .o

(E) oflen OplwseNrana

69

23 )
A) 72,160 (B) 23,120 .. 3 €T: Tooo
@ 3,972 (D) 26240 ;o 3 xi2e0@ |
o o - *\20003% 2 1o |
(E) ofeni Asflweloama | | -
Al




S e

- Gpuiy el dlsLd @g,eur éuq_uuam_ufﬂeu wHUAILEEDg.
) e® GO L 2 STg. D BN &S QgTensufe @mggmme‘rﬂm raimenfléans;

161.

@ 16000 ., (B) % 15,000 le_géaék

- cossTi022 B Y.

(&) @ only - ®) (i) only -
- (O) (1) only D) (iv_).only

- (iii) ug,gj e;,,mr@asaﬂco é:buglrjw D&&ET Qg,rrma;uﬁ]a) Lﬁ]g)‘mg,c;urra;erﬂsvr eTetmenléena

A @ wren , » B) (11) LLHL , .
SRR F0) g
(C). (1) LD;@LD | (D) Gv) L b
(E) e Qsfweldeae ' : _ ‘. i
| (DVQ;W;(PJL)Y@)
If the difference between C.I. and S.I. on some prmmpal at 15% p for
3 yearsis Z 1,134. Then the principal is > Px % (0 0xYX >
T§o 1vo |
(A) 716,000 | (B) 15,000 3 a}S‘
(C) z14,000 (D) Z 20,000 '\’x/; s e 3y
(E) Answer‘ not known | | - Ve
P m T 2xgvdo

15% <) em_m,u_cﬂsu 3 agpem@a;@a;@es aﬂmf_as@m ahﬁ@ G)Jl_lq.GS@LD g,soﬂ

(1) Number of births per one hundred population in a glvérpyear
(i1) Number of births per one lakh populatlon In a given year
(111) Number of births per one thousand population in ten years

(iv) Number of births per one thousand population in a given year

(E) - Answer not known

(11) @M GO egbmnorw @@ ,@em_& D& & 6T Qgrrma;uﬂ]a) Lﬂmgyg,mﬁasaﬂaisr
C eTaentlGanss - ‘ |

(1v) em @i cg;_[,mnq_a) échSIULD &&6T Qgmensufey tﬁ]mpg,mrra;erﬂm Grsmmﬂa;mas {

QUL g &@Lh. @ml._("mu.,mm @S]gréhurr&m T1, 134 crafleh DABET D|F)

(€ zi4000 @ 20,000
(E)  eflani Qsfueldveme - o

R



7. Find the missing number:
49, 121, 169, ?, 361
225 /1
©) 289,
\(E) Answer not known
" QUL crédvrmmré; asafur@@q.
| 121, 169, ?, 361
| @ 225
C 289
(B) eflor Gsfucidma

’188. F1nd the area of a rectangle one of whose s1des 1s 5 em and | ’

'dlagonal 13 cm..
A) 74 cm2
(B) 96 cm2
@ 60 cm2 ]
(D) 56 cm?
(E) ‘Answer not known

Q Qeeiauagdlen qm LssD 5 Qs.8. LHmILD cwg)m epeeveili b 13 Qe.8. erafle,

Cscueuasdlen LT Sreams.

'(A) 74@5132

S

" .
n 1.
7503 s, 16
(B) 256
D) 324 ChrsT, o505 = |7
289 .
|
B) 256 ;
(D) 324

B0 g, )g '=<m9v~:€>av“
| g‘ N T 7 |
- . T &L\Gb\"“‘*{*

2

g5 2413

| g/\QI'B




189. 94 is divided into two pai'ts'in such a way that the fifth part of the ﬁrc
and the eighth part of the second are in the ratio 3 : 4. Then the first pay

1S : v _ o A ‘ 2 . 3“? i
@) 28 | @3 vE ‘
©) 36 . | D) 40 82 . 2

(E) Answer not known , | A 3 .5 15
e O - oo ' == = 8% .32 .
gpsler @ uEH LOYID eTLg6r @ UGS erar @@gu@lé,{umas Gflss0L

earetr 94-Qeim allflsid 3 : 4 erafled DIBET (PSD LGS u
. : - ,v/,\;_i(",B:;z_

(4 28 B 30 |
€) 36 T (D) 40 ORI = W32 : 4T

| (E) ol ng,ﬂma‘ﬂ.m@wv. 4w 294 , sk E30

"'"0\:”’:2’ | '&:%zxz:(wtt,

190 A group of letters are given. A numérical code has been given to eacl
letter. These letters have to be unscrambled into & meaning word. Finc
~out the code for the word so formed from the following.

RMENEBTU.
BRI R IR
1 2 3 4 5 ¢

&) 625314 |  (B) 462531 -

(C) 462315 (D) 542531

(E) Answer not known

Tpsgisatlen Ugm@ly qarmn G QsrRéstiLr () 2 ameng). eelbleum(s oT(psgs@E
sallssaliCu  eram  @HuiE)  apmsLULBetergl.  @s0sTELY  pssismen
QL bCuwTSg wrhBluewssred 6lLimmenerer wurfigamss SaLs@n. oigeruy,
LdlsTas O 58 euTismssaTan erem GOURsmars sreams. '

it 1 RMENBU NuvseR.

( A A ...
L] 1.2 845 6 hb2¢3) .
T @,
- (C) 462315 ., (D) 542531

(B) oL Gsflucidme
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91. A farmer borrowed Rs. 20,000 from a money lender at 4.5% per annum

in simple interest. The amount paid by him to clear the loan after a

period Of5 years is | ST 28000 X Y 5V, x SYYS.
(A ¥4,500 (B) 215500 | .

(C) r17,000 - @ ’ 24,500 o000 B x > x%” :, Yt S0
(E) Answer not known ’

'@@ aileusmud T 20,000-g e renysE 4.5% gaf QUL iguiled @(meul Bl
sLas GQupdpmi. mbg 2ITHSEHEGU et el appeugib sLevar DDLE5
Oequés Couatmiyw Qgrans : .

(A) 74,500 ' (B) 215,500

(C) 17,000 (D) 724,500

(E) alev QsAweldrae -

192.

The difference between the simplé ihterest received from two different

- sources on ¥1500 for 3 years is 213.50. The difference between their rate

of interest is ; \
| 37/\4 ~v 150058 3.5 Olafn

(A 0.1% |

B 02% . . 'géo RPN
@© 0.3% - |

(D) 0.4% LR X6 gy
(E) Answer not known | Sy | _

(©) 0.3%
(D) 0.4%

¥ 1,500-85 3 yampisafias @) CloueGoumy QL risefe Qs Hev_s8 safleut g safler
cllggumed T 13.50 erafled eui_iy cdistsafler elgdwns

A) 0.1% |

(B) 0.2%

(E) e Qsfweleane

85  COS4T/s092

r"PH m r\\'rnv;

< OW(Q/\;Q\\; > 20000 ~ypo —:quoo.




